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[ 71 0 51
[ kn/ ] 465 452
[ /1 585 542
519.3km [ /] 1533 a8
1345316k [ 71 684,327 684,244
) (B) (A - B)
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27.3

-12 H 1 2.0568 0 0 0
-11 H 2 1.9045 0 0 0
-10 H 3 1.7883 0 0 0
-9 H 4 1.7079 0 0 0
-8 H 5 1.6502 2 3 0
-7 H 6 1.5867 22 36 0
-6 H 7 1.5213 48 73 0
-5 H 8 1.4595 67 97 0
-4 H 9 1.3904 86 120 0
-3 H 10 1.3620 127 173 0
-2 H 11 1.3225 174 230 0.00 0
-1 H 12 1.2653 153 193 141 2
H 13 1.2365 125 155 0.82 1
1 H 14 1.1699 15 18 5.23 6
2 H 15 1.1249 4 5 5.10 6
3 H 16 1.0816 3 3 4.63 5
4 H 17 1.0400 0 0 3.83 4
5 H 18 1.0000 0 0 3.93 4
6 H 19 0.9615 0 0 4.07 4
7 H 20 0.9246 0 0 427 4
8 H 21 0.8890 0 0 454 4
9 H 22 0.8548 0 0 4.46 4
10 H 23 0.8219 0 0 5.65 5
11 H 24 0.7903 0 0 6.25 5
12 H 25 0.7599 0 0 6.33 5
13 H 26 0.7307 0 0 7.32 5
14 H 27 0.7026 0 0 8.01 6
15 H 28 0.6756 0 0 9.29 6
16 H 29 0.6496 0 0 10.20 7
17 H 30 0.6246 0 0 1031 6
18 H 31 0.6006 0 0 1041 6
19 H 32 0.5775 0 0 1051 6
20 H 33 0.5553 0 0 10.55 6
21 H 34 0.5339 0 0 10.56 6
22 H 35 0.5134 0 0 10.53 5
23 H 36 0.4936 0 0 1051 5
24 H 37 0.4746 0 0 1048 5
25 H 38 0.4564 0 0 1045 5
26 H 39 0.4388 0 0 1042 5
27 H 40 0.4220 0 0 10.39 4
28 H 41 0.4057 0 0 10.37 4
29 H 42 0.3901 0 0 10.34 4
30 H 43 0.3751 0 0 1031 4
31 H 44 0.3607 0 0 10.27 4
32 H 45 0.3468 0 0 10.23 4
33 H 46 0.3335 0 0 10.19 3
34 H 47 0.3207 0 0 10.15 3
35 H 48 0.3083 0 0 10.11 3
36 H 49 0.2965 0 0 10.07 3
37 H 50 0.2851 0 0 10.03 3
38 H 51 0.2741 0 0 10.00 3
39 H 52 0.2636 0 -19 9.96 3
826 1,086 332 181

826 332
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